L If both P oand ¢ belong 1o (he wet

5 What | '
(1, 2,3, 4), then how many equations ooy S B

he sum of the squares of the roots
of the form e + gx + 1 o i ;i ke
real rootg 2 1 L O will haye O 2620k -2y ~(k + 1) = 0 is mini-
(a) 12 (n) 1
(h) 10 (by 1
3
(c) 7 (c) 2
d) & (d) 2
2. What is the valye of 6. I the roots of the equation
2k as s . 101 7 alb—c)xt + ble—a)x+ cla - b)y=0
are equal, then which one of the
(@) 51 following is correet 2
(b) 55 (@) a, b and ¢ are in AP
) 110 () a, b and ¢ are in GP
() a, b and ¢ are in HP
(d) 111

(d) a, b and ¢ do not follow any

regular pattern
=5 IfA,Edemsuhsctsof'agivmm

"“"’I which one of the following 7. If ]x’—3x+z[ > x*=3x+2, then
: T which one of the following is correct 7
(@) AUNB) =AUB (@ x<lorx=2
(b) AN(AUB) =4 (b) 1=x=2
(c) 1 <x=<2
(c) (ANBUC = (AUC)N(BUC)

(d) xis any real value except 3 and 4
d) (AUB)NC = (ANC)UBNC) _
il 8. A geometric progression (GP) consists

- ; i of 200 terms. If the sum of odd terms
4. If the sum of first n m ;fh;smcs;s of the GP is m, and the sum of even
(n+12), then what is its third term terms of the GP is , then what is its
@ 1 common ratio ?
: (a) min
®) 2 &) nim
{c) 3 (€) m+ (nim)
g (d) n+ (min)
(d) 4
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S I n et 4 contiuny 3 elemietits g

another st & conaing 6 alementa, then (=243
what' i3 |he minimum  number of (b --Ii'\'rj
elamenin iy (AUBY ean have ” .

(6) 146
la) 3 :

(d) =246
b o

1L If x+a+b4e=0, hen what is the

e} 8 value of

x+a b e
@ 9 . xh e | B

i b xde

10 What is the numiber of diagonals of an B

octagon ? (a)

(b) (a+b+ey

(€) a®+p+ 2

(d) a+b+c—2

E =1

14. If A=[_I l]' then the expression

A 247

(=) a null matrix
(b)  an identity matrix
(€) equal to 4

(d) equal to 4

15. Let

8 the values of x that satisfy the

07




146, IJmIer_ which one of (e fllowing
{:I:'lﬂﬂll.ll.'lhl will the quadrntic eqitalion
T+ 0 = 0 alwiya have res mots 7

(8) 243 s =
) 3 sm?cy
(&) m =8
) m? =<3

17, What s the value of

.‘-I-'l.ﬁ L J—Ji L
2 Hih=e=r ¥

(a) 1

(b} =i

() 2
(dy -2

18, If a amd A are the roots of
_rhl-.ﬁ-l-u,lhmnﬁuﬂg

%}-ﬁﬁ’) equal {0 ?

@4
(b) 6
(o) 4
) 2

18. In a school, 50% students play cricket
and 40% play foothall If 10% of
students play both the pames, then what
per cent of students play neither cricket
football 7

WA=z 0552 and = (¥ v iz

i prime mimber), then wiwh iy ANK
equul o7

(a) &

) {1}
(e} {2)
4 {1.2]

21 I x= 1+, then what is the vahie of

E QB v o
(n) & -

{(b) ~Gi+3
(¢) —6i-3
{d) 6i+3

22. What is the value of

e

2+ :

e
(a) +2-1
(b) +2+1
{c) 3
(d) 4

22, If Pin, 'r)= 2520 and C(n, r}=21, then

what ig the value of C(n + 1,74 1) 7
(e) 7

(b) 14
(c) 28
{d) 56




(#) Both A8 and BA exist

(h) Neither AB nor BA exists

(c) AR exists but BA does not exist

(d) AR does not exist but BA exists










Which of the







on the plmui':—*} = [y W
is the value of k?




of o trinngle ABC are "
Se=+/3:-/2, then what T
e of angle A 7

herea>0and b>07







wﬂn the M statemeitts in

Tspect of e mtan s =sif 1]
Morew 0and ) m0;

74, What is the degree of the differe
iy (&Y ![ﬂ}%?

75, Which one of ‘the. following is the

second degree polynomial function
flx) where f{0)=5, f{-1)=10 and
)y =62

(@ =245

(b) 3*—25-5

(@) 3-2x+5

77. How much angle does the tangent at P

make with y-axis 7
(a) tan'm?

(b) cot'(1 4+ m?)

(c) sin“[ L ]
Jl+m"’




: ; lia 7
81 mhlw equal to

® m“i:,_ar-—'li);. N

[ﬁofsqﬂ]tt]?
(a) O
(b) 1
3 A L e
© = ® Dt

1-n

®) (1+inx e

n+1

© Tema ¢

27




umn[ﬁw m
. Hx)? - -. iﬁ

{a] o
(6) 2
(c) 4
(d) 8
87. ';Fhﬂ is the peried of the function
o

(a) m

(b)

(c)

(d)

w[i‘ | m]#




o8 e 58 100 peiod of et

(s) V0=
(®) 20x
(c) 40

(-2, 3)
(3, 4)

(b)
(€) (=3,-2)

(d)

(-4, =3)

nﬂhr- fu!iu'mng intervals

31

Directions for the following three (03)
dtemn : '

Read the following informution and answet
the three items that follow :

Let flx) =2 +2¢~ § and g(x) = 5% + 30
91. What are the roots of the equation
gL]=07
(@ 1,1
®) 1, =1
() 1,1
@ 0,1
1. /) is & polynomial of degree 3.
2. glgtx)] isapolynomial of degree 2.
Which of the above statements isf are

correct T

(z) 1 only

(b} 2 only

{c) Both | and 2
(d) Neither 1 nor 2

93, I A(x) = 5/(x) — xg(x), then what is the

derivative of h(x) ?
(a)
(b)
(c)
(d)y 0







; 13 sz
T, Iff{x}="-—*-2-..+5't+?

_ 3 imﬂ‘-‘-ﬂsn;in
the iterval 7 gng 505 i he
hﬂﬂ_!’\"!‘.l 6} Ihﬂ:l h. Onge ﬂf
mlﬂmngmmmn the

@ T2 Dwds-(, 2 U (3, x)

T0L A coin is biageq o that b
up thrice ag likely ag {.j_;lwds e

) . For threg
rdependent tosseg of 4 £0in, why ;
l'::s]?.:ﬂ bub]my ot H"‘ﬁnx at muost nv;
(a) 0:-16
(b) 0:48
() 058
(d) 098
102, A bug contains 20 books out of which
5 are defective, If 3 of the books are
the bag in succession withour replace-
ment, then what is lhq;Fuhabthy that
Noic a0 defociive 7
(@) 0009
(b) 0016
(c) 0026
(d) 0047

35

103,

104.

105.

The median of the observations 22, 24,
33, 37, x+1, &+ 3, 46, 47, 57. 58'in
Accending order is 42 What are the
values of Sth and 6ith ohservations
respectively 7

(a) 42 45

(b) 41, 43

(c) 43, 45

(d) 40, 40

Arthmetic mean of 10 observations is
60 and sum of squares of deviationg
from 50 is 5000, What is the standard
deviation of the observations 7

{a) 20

b)) 2i
(c) 2236

(d} 24-70
I{pmdgmmﬂmumnfthﬁm
r—3ﬂx+221=ﬂ.whniis-lh¢\'l]unuf
;:'344;]'?

(2) 7010
(b) 7116

{e) 7210

(d) 7240

A - BEM-D-5TM



the variab .
’“'Fr;;mmmﬁm“‘,,: f; ?; tWo 109, If a coin is tossed till the first head
= m

ax+2p=125 mmh\'%qf mthmﬂrhﬂwiﬂhalhumpm
¥, y and r respectively 7
@22 s it
aNeT () {TH)
20 35 | {T, HT, HHT, HHHT, ....ccoveee )
® 3 2 05 ©
. (@) {H, TH, TTH, TTTH, .ccoooorrmerenc}
{g’ ...5_5..”;2-2r -05 1
gt 27 110. Consider the following discrete fre-
5 20 qmmmwnn
m?k'?“ |12 |3|4]|s|6|7]8

3 [15 |45 | 57 |50 36|25 |9
llﬁaﬂm table f ) |26 Sl
e .ﬂ. i 2:1!5; What is the value of median of the
distribution ?

(2) 4
(b) 5
(c) &
(dy 7
- Two dice are thrown simultaneously.
What is the pruhah:ht}l that ‘ﬂ:le mgf

prime number ?




112

3.

@

If'5 af C.Dﬂ'fpanr'a 10
do nol meet emiy

()

(G-

There ﬂn=3i:uiminnbux.'omisa
two-headed coin; another 15'a fair coin;
and third is biased coin that comes l
heads 75% of ime. When one of I]t;i:
three coins is selected a random and
flipped, it shows heads What is the
probability that it was the two-headed
coin 7 | :

(a)

W | kS

(b)

©

Vil G w)—

Conside ‘the following statements :

1. If A and B are mutually exclusive
events, then it is possible that
£(A)=#F(B)=0-6.

2. If A and B are any two events such

that P(A|B) = 1. then P(B]A4 ) = 1.

39

Which of the above statements is/are
correct 7

(@) | only
(b} 2.only
(e) Both 1 and 2

(d) Meither 1| nor 2

115, If a fair die is rolled 4 times, then what

116.

is the probability thal there are exactly
2 sixes 7

(a) z_is'
® =
(©) ;itz
O

Mean of 100 observations is 50 snd
standard deviation 15 10. If 5 15 added
to each observation, then what will
be the mew mean and new standard
deviation respectively 7

(2) 50, 10

(b} 5015

(c) 5510

(d) 55,15

A = BEM-D-HTM



119. A car travels first 60km at 8 speed
of 3v km/hr and travels next 60 km at
2v km/hr. What is the avernge speed of
i e

(a) 2-5vlam/hr

(B) 24y km/hr
(€) 2:2v knyhr
@ 2ivimir

120. Tﬁﬁ@mﬂdﬂ#nj’ 150 students in a
certai Elmiiﬁﬂlﬁmm%:ht
ﬁmw?ﬁhmﬂ-mﬂofm is
! Sskg.Whntmthamhﬂofheyzf
- and girls respectively in the class 7

(#) 75 and 75
(b) 50 and 100
(c) 70 and B0

(d) 100 and 50



